On Generalized $(\alpha,\beta)^*$ -Derivations in *-rings

Dr.D.Bharathi

Department of Mathematics Sri Venkateswara University Tirupati, AP, India. Bharathikavali@yahoo.co.in

P.V. Rama Krishna

Department of Mathematics Sri Venkateswara University Tirupati, AP, India. *rampaduchuri@gmail.com*

Abstract: In this paper, it is proved that a 2-orsion free semi-prime*-ring(semi simple *ring) admits a generalized (α, β) *-derivation F with an associated nonzero (α, β) *-derivation d, then F maps from R into Z(R). Using these it is searched for a prime*-ring which results either F=0 or R is commutative.

1. INTRODUCTION

Over the last few decades, Several authors have investigated the relationship between the Commutativity of a ring R and the existence of certain specific derivations of R. (Cf.,[1],[2],[6],[9] where further references can be looked). The first result in this direction is due to posner[11] who proved that if a prime ring R admits a non-zero derivation d Such that $[d(x),x] \in Z(R)$. $\forall x \in R$, then R is commutative. An analogous result for centralizing automorphisms on prime rings was obtained by Mayne [10]. A number of authors have extended these theorems of Posner and Mayne. They have showed that derivations, auto orphisms, and some related mappings cannot be centralized on certain subset of non-commutative prime and some other rings. For these results refer the reader ([2], [3], [9]) where the further references can be found. In [4] the description of all centralizing additive mappings of a prime ring R of characteristic not equal to 2 was given. See also [3] where similar results for some other rings are presented. In the year 1990, Bresar and Vukman [6] established that a prime ring must be commutative if it admits a non-zero left derivation. Further, Vukman[14] extended the above mentioned result for semi-prime rings admits a Jordan left derivation ϕ then ϕ is a derivation which maps R into Z(R). In this section our objective is to explore similar types of problems in the setting of *-rings with generalized $(\alpha\beta)^*$ -derivation.

Throughout the discussion, R will denote an associative ring with center Z(R). For any $x, y \in R$, the symbol [x, y] will denote the commutator xy - yx. We shall make extensive use of the following basic commutator identities without any specific mention: [xy, z] = x[y, z] + [x, z]y and [x, yz] = y[x, z] + [x, y]z for all $x, y, z \in R$. A ring R is prime if for $x, y \in R$, $xRy = \{0\}$ implies either x = 0 or y = 0, and R is semiprime if $xRx = \{0\}$ implies x = 0. A ring is said to be 2-torsion free if 2x = 0 then x = 0. A semi-prime *-ring is defined as $xa^*x = 0 \Longrightarrow x = 0$.

An additive mapping $d : R \to R$ is called a derivation if d(xy) = d(x)y + xd(y) holds for all $x, y \in R$. An additive mapping $x \to x^*$ of R into itself is called an involution if the following conditions are satisfied: (i) $(xy)^* = y^*x^*$, and (ii) $(x^*)^* = x$ for all $x, y \in R$. A ring equipped with an involution is called a *-ring or Ring with involution. Let R be a *-ring. An additive mapping d: $R \to R$ is said to be a *-derivation if $d(xy) = d(x)y^* + xd(y)$ holds for all $x, y \in R$. An additive mapping $d : R \to R$ is said to be reverse derivation if d(xy)=d(y)x+y d(x) holds for all $x,y \in R$. An additive mapping $d: R \to R$ is called a reverse *-derivation if $d(xy) = d(y)x^* + yd(x)$ holds for all $x, y \in R$. An additive mapping d: $R \to R$ said to be $(\alpha, \beta)^*$ - derivation if $d(xy)=d(x) \alpha(y^*) + \beta(x)d(y)$ holds for all $x, y \in R$. An additive mapping d: $R \to R$ is called a reverse *-derivation if $d(xy) = d(x)x^* + yd(x)$ holds for all $x, y \in R$. An additive mapping d: $R \to R$ said to be $(\alpha, \beta)^*$ - derivation if $d(xy)=d(x) \alpha(y^*) + \beta(x)d(y)$ holds for all $x, y \in R$. An additive mapping d: $R \to R$ is called a reverse *-derivation if $d(xy) = d(x) \alpha(y^*) + \beta(x)d(y)$ holds for all $x, y \in R$. An additive mapping d: $R \to R$ is said to be reverse $(\alpha, \beta)^*$ derivation if $d(xy) = d(y)\alpha(x^*) + \beta(y)d(x)$ holds for all $x, y \in R$. An additive mapping $F : R \to R$ is

Dr.D.Bharathi & P.V Rama krishna

called a generalized derivation if there exists a derivation $d: R \to R$ such that F(xy) = F(x)y + xd(y) holds for all $x, y \in R$. An additive mapping $F: R \to R$ is called a generalized *-derivation if there exists a *-derivation $d: R \to R$ such that $F(xy) = F(x)y^* + xd(y)$ holds for all $x, y \in R$. Let α, β be automorphisms of R. An additive mapping $F: R \to R$ is called a generalized $(\alpha, \beta)^*$ -derivation d if $F(xy) = F(x) \alpha(*) + \beta(x)d(y)$. F is called a generalized reverse $(\alpha, \beta)^*$ -derivation with associated reverse $(\alpha, \beta)^*$ -derivation d if $F(xy) = F(x) \alpha(*) + \beta(x)d(y)$. F is called a generalized reverse $(\alpha, \beta)^*$ -derivation with associated reverse $(\alpha, \beta)^*$ -derivation d if $F(xy) = F(x) \alpha(*) + \beta(y)d(x)$ holds for all $x, y \in R$. An additive mapping $F: R \to R$ is called right(resp left) α^* -Centralizer if $F(xy)=F(x) \alpha(y^*)$ (resp $F(xy) = \alpha(y^*) F(x)$. In[5] Brešar and vukman proved that if a prime *-ring R admits a *-derivation(resp. reverse *-derivation) d, then either d = 0 or R is commutative. Further, the author Shakir Ali [13] together with Ashraf[1] extended the above mentioned result for semi prime *-rings. During the last few decades many authors have studied derivations in the context of prime and semi-prime rings with involution (viz., [1], [5], [7], [8], [9], and [12]).

The aim of the present paper is to establish some results involving generalized (α,β) *-derivations and generalized reverse (α,β) *-derivations. The obtained results generalizes the result given by Brešar and Vukman [5] to a large class of *-rings.

Next we prove the result on 2-torsion free semi-prime *-ring.

2. MAIN RESULTS

<u>Theorem2.1</u>: Let R be a 2-torsion free semi-prime*- ring. if R admits a generalized $(\alpha,\beta)^*$ - derivation F with an associated non-zero $(\alpha,\beta)^*$ -derivation d, then F maps from R to Z(R).

<u>Proof:</u> Let F be a generalized $(\alpha,\beta)^*$ - derivation with an associated non-zero $(\alpha,\beta)^*$ - derivation, then we have

$$F(xy) = F(x)\alpha(y^*) + \beta(x)d(y) \quad \forall x, y \in \mathbb{R}$$
(1)

Replacing y by yz in (1) we get

 $F(xyz) = F(x)\alpha((yz)^*) + \beta(x) d(yz).$

Since d is $(\alpha,\beta)^*$ -derivation then

 $F(xyz) = F(x) \alpha(z^*y^*) + \beta(x) (d(y)\alpha(z^*) + \beta(y)d(z)) = F(x)\alpha(z^*)\alpha(y^*) + \beta(x)d(y) \alpha(z^*) + \beta(x)\beta(y)d(z)$

(2)

On the other hand

$F(xyz)=F(xy(z))^{-1}$	
$= F(xy) \alpha(z^*) + \beta(xy) d(z).$	
$= F(x) \alpha(y^*)\alpha(z^*) + \beta(x) d(y) \alpha(z^*) + \beta(x \beta(y)d(z).$	
Comparing (1) and (2) we get	
$F(x) \left[\alpha(z^*), \alpha(y^*) \right] = 0.$	(3)
Replacing z* by z, y* by y in (3) we get	
$F(x)[\alpha(z),\alpha(y)]=0.$	(4)
Replacing z by $zF(x)$ in (4) we get	
$F(x)\alpha(z)[\alpha(F(x),\alpha(y)] + F(x)[\alpha(z),\alpha(y)]\alpha(F(x) = 0.$	
Using (4) we have	
$F(x)\alpha(z)[\alpha(F(x),\alpha(y)]=0.$	(5)
Left multiplication of (5) by $\alpha(yF(x))$ we get	
$\alpha(\mathbf{y}\mathbf{F}(\mathbf{x}) \) \ \mathbf{F}(\mathbf{x})\alpha(\mathbf{z}) \ [\ \alpha(\mathbf{F}(\mathbf{x}) \ , \alpha(\mathbf{y}) \] = 0.$	
$\alpha(\mathbf{y})\alpha(\mathbf{F}(\mathbf{x})\mathbf{F}(\mathbf{x})\alpha(\mathbf{z})[\alpha(\mathbf{F}(\mathbf{x}),\alpha(\mathbf{y})] = 0.$	(6)

Left multiplication of (5) by α (F(x)y) we get α (F(x)y) F(x) α (z) [α (F(x), α (y)] = 0.

 $=\alpha(F(x)\alpha(y) F(x) \alpha(z) [\alpha(F(x),\alpha(y)] = 0$

Comparing (6) and (7) we get

 $[\alpha(F(x),\alpha(y)] F(x) \alpha(z) [\alpha(F(x),\alpha(y)] = 0.$

I.e) $[\alpha(F(x),\alpha(y)] R [\alpha(F(x),\alpha(y))] = 0. \forall x, y \in R.$

Semi-Primeness of R forces the above equation to

 $[\alpha(F(x),\alpha(y)] = 0. \forall x,y \in \mathbb{R}.$

 $\alpha(F(x) \alpha(y) - \alpha(y) \alpha(F(x) = 0).$

 $\alpha(F(x) \ y) \ \text{-} \ \alpha(yF(x) \) = 0.$

 $\alpha(F(x) \; y \; \text{-} \; yF(x) \;) = 0.$

$$\alpha$$
 [F(x),y] = 0. \forall x,y \in R

Since $\alpha \neq 0$ is an automorphism of R we get

 $[F(x),y] = 0. \ \forall x,y \in R.$

Hence F is mapping from R into Z(R).

Next theorem deals with a semi-prime*-ring R admits an additive mapping G from R to itself satisfying $G(xy) = G(x) \alpha(y^*)$. $\forall x, y \in R$, then G maps from R to center of R.

(7)

<u>Theorem2.2</u>: Let R be a semi-prime*-ring. If $G:R \rightarrow R$ is an additive mapping such that

 $G(xy)=G(x)\alpha(y^*).\forall x,y\in \mathbb{R}$, then G maps from R to Z(R).

<u>Proof:</u> By assumption we have $G(xy) = G(x)\alpha(y^*) \cdot \forall x, y \in \mathbb{R}$.

Now compute G(xzy) in two different ways. On the one hand

 $\alpha(G(x) y) G(x) \alpha(z) [\alpha(G(x), \alpha(y))] = 0.$ (14) $\alpha(G(x))\alpha(y)G(x)\alpha(z)[\alpha(G(x),\alpha(y)] = 0$ Comparing (13) and (14) we get $[\alpha(G(x),\alpha(y)] R [\alpha(G(x),\alpha(y)] = 0. \forall x, y \in R.$ Semi-Primeness of R forces the above equation to $[\alpha(G(x),\alpha(y))] = 0. \forall x, y \in \mathbb{R}$ $\alpha(G(x)) \alpha(y) - \alpha(y) \alpha(G(x)) = 0$. $\alpha(G(x) y) - \alpha (yG(x)) = 0.$ $\alpha(G(x) y - yG(x)) = 0.$ $\alpha [G(x),y] = 0. \forall x,y \in \mathbb{R}$ Since $\alpha \neq 0$ is an automorphism of R we get [G(x),y] = 0. $\forall x,y \in \mathbb{R}$. Hence G maps from R into Z(R). Next we deal with a prime*-ring R and semi-simple*-ring. **Corollary 2.3:** Let R be a prime *-ring. If R admits a generalized (α,β) *- derivation F with an associated non-zero $(\alpha,\beta)^*$ - derivation d, then either F = 0 or R is commutative. In the view of Theorem 1 we have Proof: $F(x)[\alpha(y),\alpha(z)] = 0. \forall x,y,z \in \mathbb{R}.$ (15)Replacing y by yt in (15) we get $F(x) [\alpha(yt), \alpha(z)] = 0$ $F(x) \left[\alpha(y) \ \alpha(t), \alpha(z) \right] = 0.$ $=F(x)[\alpha(y),\alpha(z)]\alpha(t)+F(x)\alpha(y)[\alpha(t),\alpha(z)]=0.$ (16)=F (x) $\alpha(y) [\alpha(t), \alpha(z)] = 0. \forall x, y, z \in \mathbb{R}.(By 15)$ $= F(x)R[\alpha(t),\alpha(z)] = 0. \forall x,t,z \in \mathbb{R}.$ (17)Primness of R forces (17) to either F (x) = 0 or $[\alpha(t), \alpha(z)] = 0$. $\forall x, t, z, \in \mathbb{R}$. Consider [$\alpha(t), \alpha(z)$] = 0. $\forall t, z \in \mathbb{R}$. $\alpha(t) \alpha(z) - \alpha(z) \alpha(t) = 0$. $\alpha(tz) - \alpha(zt) = 0.$ α ([t,z]) = 0. Since $\alpha \neq 0$ is an automorphism of R we get [t, z] = 0. $\forall t, z \in R$. Hence either F = 0 or R is commutative. **Corollary2.4:** Let R be a semi-simple *-ring. If R admits generalized (α,β) *- derivation F with an associated non-zero $(\alpha,\beta)^*$ - derivation d, the F maps from R into Z(R).

Theorem 2.5: Let R be semi- prime *-ring. If R admits a generalized reverse(α,β) *- derivation F with an associated non-zero reverse (α,β)^{*} - derivation d,then [d(x),z] = 0.

Proof:
$$F(xy)=F(y)\alpha(x^*)+\beta(y)d(x) \ \forall x,y \in \mathbb{R}$$
 (18)

Replacing x by xz in (18) and using the fact that d is $(\alpha\beta)^*$ -derivation we get

 $F(xzy) = F(y) \alpha ((xz)^{*}) + \beta(y) d(xz).$ = F(y) \alpha(z^{*}x^{*}) + \beta(y) (d(z) \alpha(x^{*}) + \beta(z)d(x)) = F(y)\alpha(z^{*})\alpha(x) + \beta(y)d(z)\alpha(x^{*}) + \beta(y)\beta(z)d(x). (19)

On the other hand

F(xzy)=F(x(zy))	
$= F(zy) \alpha(x^*) + \beta(zy)d(x).$	
$=F(y)\alpha(z^*)\alpha(x^*)+\beta(y)d(z)\alpha(x^*)+\beta(z)\beta(y)d(x).$ (By (18)	(20)
Comparing (19) and (20) we get	
$[\beta(y),\beta(z)]d(x)=0 \forall x,y,z \in R$.	(21)
Replacing y by $d(x)$ y in (21) we get	
$[\beta(d(x) y), \beta(z)] d(x) = 0.$	
=[$\beta(d(x) \ \beta(y), \beta(z)]d(x) = 0.$	
$=\beta(d(x) [\beta(y), \beta(z)] d(x) + [\beta(d(x), \beta(z)] \beta(y)d(x) = 0.$	
$= \left[\beta(d(x),\beta(z)) \ \beta(y)d(x) = 0. \ \forall x,y,z \in R (By \ (21)$	(22)
Right multiplication of (22) by $\beta(z d(x))$ we get	
$[\beta(d(x), \beta(z)] \beta(y)d(x) \beta(zd(x)) = 0.$	(23)
Right multiplication of (22) by β (d(x)z) we get	
$[\beta(d(x),\beta(z)] \ \beta(y)d(x) \ \beta(\ d(x)z \) = 0.$	(24)
Comparing (23) and (24) we get	
$[\beta(d(x)),\beta(z)] \ \beta(y)d(x) [\ \beta(d(x)),\beta(z)] = 0. \ \forall x,y,z \in \mathbb{R}$	
$[\beta(d(x)), \beta(z)] R [\beta(d(x)), \beta(z)] = 0.$ By semi-primeness of R, (25) reduces to	(25)
$[\beta(d(x)), \beta(z)] = 0. \ \forall x, z \in \mathbb{R}$	

$$=\beta(d(x))\beta(z) - \beta(z)\beta(d(x)) = 0.$$

 $=\beta (d(x) z) - \beta (zd(x)) = 0.$

$$=\beta[d(x), z] = 0$$

since $\beta \neq 0$ we get $[d(x), z] = 0 \forall x, z \in \mathbb{R}$

Hence the theorem.

The Next corollary states that a non-commutative prime*-ring R admits generalized reverse (α,β) *- derivation F then F is a right α *- centralizer.

Corollary 2.6: Let R be a non-commutative prime *-ring. If R admits a generalized reverse (α,β) *- derivation F with an associated non-zero reverse (α,β) *- derivation d, then F is a right α^* centralizer

Proof: By theorem (2.5) we have

 $[\beta(y)\beta(z)]d(x)=0\forall x,y,z\in \mathbb{R}$

Replacing y by xy in (26) we get

 $[\beta(xy), \beta(z)]d(x) = 0. \forall x, y, z \in \mathbb{R}$.

=[$\beta(x) \beta(y), \beta(z)$]d(x) = 0.

 $= \beta(x) [\beta(y), \beta(z)] d(x) + [\beta(x), \beta(z)] \beta(y) d(x) = 0.$

=[$\beta(x),\beta(z)$] $\beta(y) d(x) = 0$. $\forall x,y,z \in \mathbb{R}$ (By (26)

= $[\beta(x), \beta(z)] R d(x) = 0. \forall x, z \in R$

The primeness of R forces the above equation to either $[\beta(x), \beta(z)] = 0$ or d(x) = 0.

Consider [$\beta(x), \beta(z)$] = 0 = $\beta(x) \beta(z) - \beta(z) \beta(x)$

(26)

$$= \beta (xz) - \beta(zx).$$

 $=\beta [x,z]$

ie β [x,z] = 0. Since $\beta \neq 0$ is endomorphism of R we get [x,z] = 0

Therefore either [x,z] = 0 or d(x)=0.

Put U={ $x \in R/[x,z] = 0$ } and V = { $x \in R/d(x) = 0$ }.

Then U and V are additive subgroups of R such that $U \cup V = R$.

But R cannot be union of two of its proper subgroups we find that

U=R or V =R.

If U = R then $[x, z] = 0 \forall x, z \in R$ and hence R is commutative, a contradiction.

On the other hand if V =R then d(x) = 0. $\forall x \in R$ then d = 0.

 $F(xy) = F(y) \alpha(x^*)$

F is right α *-centralizer.

Corollary 2.7: Let R be semi-prime *-ring. If R admits non-zero reverse $(\alpha, \beta)^*$ - derivation d, then d maps from R into Z(R).

Proof: choose F = d in the proof of theorem 3.

3. CONCLUSION

The motivation of the result for which a generalized $(\alpha,\beta)^*$ -derivation F which is mapping from a 2-torsion free semi-prime*- ring R to the center Z(R) plays a key role in this total article. Hence it is proved some other results regarding a prime*-ring R admits a generalized $(\alpha, \beta)^*$ - derivation F Which is equal to zero or R is commutative, a non-commutative prime*-ring R admits a generalized reverse $(\alpha, \beta)^*$ - derivation F then F is right α^* - centralizer.

ACKNOWLEDGEMENT

The author is greatly indebted to the referee for his/her valuable comments regarding a previous version of this article. The author would like to thank Associate professor D.Bharathi for his help and encouragement.

REFERENCES

- [1] Ashraf, M. and Ali, Shakir: On generalized $(\alpha\beta)^*$ derivations in H* algebras; Advances in Algebra 2(1),23-31, (2009).
- [2] Bell, H.E and martindale III,W.S: Centralizing mappings of semi prime rings, Cand.Math.Bull.30,92-101,(1987).
- [3] Bresar, M: Centralizing mappings on von Neumann algebras, Proc.Amer.Math.Soc. 111, 501-510,(1991)
- [4] Bresar, M: Centralizing mappings and derivations in Prime rings, Journal Of Algebra 156,385-394,(1993).
- [5] Bresar, M. and Vukman J. : On some additive Mapping in rings with involution, Aequationes Math.38,178-185,(1989).
- [6] Bresar,M.andVukman,J.:On left derivations and related mappings,Proc.Amer.Math.Soc.110,7-16,(1990).
- [7] Brešar, M., Martindale III, W.S. and Miers, C. R. : Centralizing mappings in prime rings with involution, J. Algebra 161(2),342-357,(1993).
- [8] Herstein, I.N: Rings with involution, The Univ.of Chicago Press, Chicago 1976.
- [9] Lanski, C : Differential identities, Lie ideals, and Posners theorems, Pacific. J. Math. 134 ,275-297, (1988).
- [10] Mayne, J: Centralizing automorphisms of prime rings, Cand.J.Math 19,113-115,1976.
- [11] Posner E.C: Derivations in prime rings, Proc.Amer.Math.Soc.8, 1093-1100,(1957).
- [12] Shakir Ali and Fosner.A. : On Jordan ($\alpha\beta$)*-derivations in rings, International J. Algebra 1-4 99–108, (2010).

- [13] Shakir Ali : On generalized *-derivations in *-rings, Palestine Journal of Mathematics,1,32-37,(2012).
- [14] Vukman,J: On left Jordan derivations of ring and Banach Algebras, Aequationes math. 75(3) (260-266), (2008).
- [15] Zafar Ullah: On generalized (α,β) -Derivations of Rings with involution, International Mathematical Forum, Vol.7(47), 2309-2315,(2012)

AUTHORS' BIOGRAPHY



Mr.P.V Rama Krishna is pursuing his Ph.D in the Department of mathematics S.V.University, Tirupati, A.P, India. He obtained his M.sc (Mathematics) from Bapatla Engineering College Bapatla, Guntur (d.t), Andhra Pradesh, India. His research is focused on the topics: Associative Rings, Derivations in Rings, Vedic mathematics. He has 2 years of teaching

Experience Where he taught Engineering students and subjects like: Multivariable Calculus ,Differential and partial differential equations, Fourier series and Boundary value problems, Laplace transforms, Z tranforms, Matrix Theory, Numerical Analysis, Special Functions and Functions of a complex Variables.



Dr.D.Bharathi is working as associate Professor of Mathematics in the Department of Mathematics, Sri Venkateswara University, Tirupati, Andhra Pradesh, India. She obtained her Ph.d from Sri Krishna Devaraya University, Anantapur, A.P, India. Her Research is focused on the topics Associative and Non associativeRings, Latticetheory, Derivations on Rings, Graph Theory, Functional Analysis. She attended and organized several conferences in Mathematics and her papers published in reputed journals. Her teaching

Experience is more than 15 years where she taught under graduate and post graduate courses like B.sc.,M.Sc. mathematics and applied mathematics subjects like:Algebra,Real analysis, Partial differential equations, Commutative Algebra, Mathematical Statistics, Functional analysis, Graph theory, Galois theory etc,Integral equations to research scholars.